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ECON 520: Intermediate Microeconomics
Problem Set 4
Solutions
Professor D. Weisman
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a) Profit-maximizing level of output when 
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b) An increase in fixed costs will have no effect on the firm’s profit-maximizing level of output. If a decreases, marginal cost decreases and the firm will increase output.

Recall: Area of Triangle =
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d) 
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e) The firm shuts down when it cannot cover its variable costs of production 
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2. Market demand function : 
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Competitive outcome: 
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Hence, 
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Monopoly outcome: 
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Since 
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, consumers would prefer to face a perfectly competitive firm.

3. 
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b) 
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4. Aggregate Market Demand : 
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Submarket 1 Demand: 
[image: image25.wmf]11

1

16

2

qp

=-


Submarket 2 Demand: 
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a) Profit Maximizing Uniform Price:
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b) Submarket 1 profit maximizing price:
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Submarket 2 profit maximizing price:
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Note that 
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. Hence, some consumers are better (worse) off with price discrimination.
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